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BT-301 (AB/AU/CE/CM/EC/EV/IME/RA/RM) (GS)
B.Tech. III Semester
Examination, June 2023
Grading System (GS)
Mathematics - [1I

Tirne : Three Hours
Maximum Marks : 70

Nore: i) Answer any five questions.

¢t o ueAT &l &

11) All questions carry
ﬂﬁﬂa’féﬁmﬁ@ !

iti) In case of any or dispurte the Enplish version
question treated as final
et Y weR & Hag Fyar [Rarg & R 5 35S T
& UE Dl kA AR WRAN

I. a) Find Solution using Newton's Divided Differcnce
Interpolation formula
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Using Newton Raphson Method, find the real root of the

equation 3x = cosx + 1.
- g W faftl & v o, hamor Ax=cosc+ 1| T
arafe® g T Hifg
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2. a) Find the first and second derivatives at x =1.1 from the

following table
x 1 1.2 1.4 1.6 1.8 2.0
F(x)| 0 | .1280|.5440]1.2960 | 2.4320 | 4.00

fFrferRed AR A x =1.1 W 98T 3R AR 3@dhar s1a
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x ] 1.2 ] 14 1.6 1.8 [2.0
. F(x)| 0 | .1280| .5440[1.2960] 2.4320 |4.00
b) Find Solution using Simpson's 3/8 rule.
X 0 0.1 0.2 0.3 0.4
y 1 109975 | 0.99 | 0.9776 | 0.8604
Ryrga= & 3/8 I o1 YA HXeh GHTUTH @ |
X 0 0.1 0.2 0.3 0.4
1 [0.9975 | 0.99 | 0.9776 | 0.8604

3. a) Apply Runge-kutta method of fourth order to solve

lﬂg—:xz+}'z :¥(0)=1 forx=0.1

fFr=faifaa o gt o & forg dte) sp Y T g fafty &
AT Bl

ID%=11+_}J2 :y(0)=1 forx=0.1

b) Use Milne's method to find the solution of differential

equation %= x -J’z; given that y = 0 when x = 0 for
0<x<l.

et 9 s o ol @ el = x -
od e R M 2 y=05@ x=0% fawo<x<l.
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Find Laplace transform of the following data

i) fcosat

ii) % ¢ sin 4r

frr=rfeiRad atis @1 eI HUR ST HIfAT

i) fcosat

ii) 2 ¢ sin 4¢

Solve : (D2+ 1) y=1rcos 21, y (0) =0 =y’ (0), £>0.
BT HIfSTY : (D2+ 1) y=tcos 2,y (0)=0=yp'(0),7>0

Find the Mean and Vaﬁm@a\%ﬁhe Poisson distribution.
@] de &1 And a‘h@%ﬂw SIS

A fair coin is mss;\g&% times; what are the probability of
getting exactly % ads and at least six heads. .
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Use Taylor series method to obtain the value of y at
x=0.1, For the differential equation % =x+y y(0)=1.
y BT HT S1T @ < forq ear Aivare fafty 61 I9aiT o= Sigl

x = 0.1 THEHIor %=x+y; w0)=1

Solve the following equation by Gauss-Seidel method
20x+y—-2z=17

3x+20p-z=-18

2x =3y +20z=25
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20x+y—-2z=17

3x+20p-z=-18

2x -3y + 20z=25

Solve the following system of equation by Crout's method
2x+3y—-z=35

3x+2y+z=10

x=5y+3z=0

freafefiaa wrfieor Ao o wmree RAftr |§ g Aiftm
2x+3y-—z=35

3x+2y+z=10

XxX—5y+3z=0

Find the Founier Cosine Transform of e™*

e* 1 FRIR Broar HIART 7 B

Find y (0.2) by Euler's modified method

d_
dx

e &6 Henftra Rty g y 0.2) s Hifdg

log,e (x+y), ¥(0) =1

‘j“;{ = lﬂgH} (.1"" y},y{ﬂ) =]

Find the root of the equation x3 — 9x + 1 = 0 between
x =2 and x = 4 by the method of bisection.

e & At @ x =2 3tk x =4 & fig gfiexo
3 —9x+ 1 =0 & g&T Fra HIfmI
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